Click highlighted text for EXWGC2225-4

Pump Breakdown 2200psi @ 2.5gpm
Part Number ... Description
Pump Information: + D23814 ... Pump Kit, DeVilbiss
7658 e, Thermal Relief Valve Assy
U187 e Filter Screen
U FO35 e Quick Connect
Engine Information: GC160QHA ....ooieeeeeeeeee Engine, Honda, 5 Hp
UPAAB s Key
TB255 e Oil, 20 oz
Frame Information: TEB5-P e Frame
17926 s Foot
17026 oo Handle, bagged
@ CO42 e Knob (2)
D (0 T Tire, Pneu
FABA oo Pal Nut (2)
@ CO41 e Insert, Nut 5/16”
Hardware Information:
Foot: FOB4 (Qty 1) vevveeereeeeeeeeenen Screw, 5/16-18 x 1”
F112 (Qty 1) cooeeeeeeeeee e, Flat Washer, 3/8”
16087(qty 1) coveeeeeeeeeeee e Nut, Hex 5/16-18
Engine to Frame: FOB6 (Qty 4) «eeeeveeeeeeee e Screw, 5/16-18
16087(qty 4) cveeeeeeeeeeieeeeee e Nut, Hex 5/16-18
FO74 (QtY 4) eeeeeeeeeeeeee e Flat Washer
Pump to Engine: 17204 Oty 4)eeeeieeeeeeeee Screw, 5/16-24 x 3%”
Accessory Information: 16276 e Hose Assy
X FOB9 e QC Plug.
X 16254 ..o Hi Pressure Hose, 3/8” x 25ft
H133 e Wand/Multi-reg
16496  ..oovieieeeeeee Trigger Gun, 3/8” Female
OHT40 e Chemical Hose
17686 ..o Bagged Parts
@ NCTOOT .o Cleaning Tool
@ 16797 e Allen Wrench
@ 17821 e Video
Manual Information: ® D21684.............. Manual, General-English/Spanish
LY 1 7 I Manual, Engine
X Included in Hose Assembly
® Included in Bagged Parts
v Included in Bagged Handle
& Wil require special tool for assembly-see Service Flash section of this manual.
+  For replacement pump, use PK18219

PW-MANUAL August, 2001
15 Tab: EX


http://shoppingcart.msservicecompany.com/msservice_net/product_files/D23814/d23814.pdf
Will Hough
Highlight

Will Hough
Callout
Click highlighted text for Pump Breakdown




